She

A2

in the park yesterday.

Answer:

They

to the beach on Sunday.

Answer:

Answer:

He

my umbrella today.

his gloves yesterday.

Answer:

We

ice cream in the summer.

Answer:

You

a snowman last winter.

Answer:

She

her sunglasses today.

Answer:

They

a picnic next weekend.

Answer:

Answer:

He

in the rain last week.

at the rainbow yesterday.

Answer:




Answers

She in the park yesterday.

Answer: played

They to the beach on Sunday.

Answer: went

I my umbrella today.

Answer: forgot

He his gloves yesterday.
Answer: lost

We ice cream in the summer.
Answer: ate

You a snowman last winter.

Answer: made

She her sunglasses today.

Answer: is wearing

They a picnic next weekend.

Answer: will have

I in the rain last week.

Answer: got wet

He at the rainbow yesterday.

Answer: marveled



